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BETIE PN SR R B EDGE 4 4,725 18,900
HHEEREE (L) 0 3,675 0
BEHEEBE () 0 3,150 0
HEHBERE(T) 0 3,675 0
REFCER (L) 1 4,725 4,725
PREFSCEHE () 1 4,725 4,725
M XER(T) 1 4,725 4,725
BREE(L) 2 3,750 7,500
BHRERE () 2 4,300 8,600
BREE(T) 2 3,670 7,340
EL R (L) 1 5,980} - 5,980
BT LR (T) 1 6,100 6,100
ERHE 2 4,100 8,200
IRARH—KT s 161 1,000 161,000
IERIEHEE 139 1,000 139,000
NEE 317 — 376,795
BIENE (8) 525 400 210,000
BIEHZE (FDTE) 222 400 88,800
BEAE (EDTE) 243 400 97,200
BIENEFDTE) 236 400 94,400
RENE(ZORB) 139 400 55,600
BENE(REOT—HATX) 99 400 39,600
fEENE(RB—FELE-) 72 400 28,800
Nt 1,536 — 614,400
—F%E (ERE 77 300 23,100
—EE (KEFH) 36 300 10,800
INEL 113 33,900
a&t 1,966 1,025,095
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